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WA 56.8 ERE 50.3 2,160 2,160 1,296 10
IZACA 31.3 E & 19.5 - 2,160 - 10 vay M
ZIES5 3.6 BRE 3.2 3,024 — 2916 0] A M
ZIES5 N 0.2 - 1,944 - 3 A M
=lT D
[E<ELY 35.0 ERE 32.1 1,782 1,782 1,620 15[ A 6
HTE 2.1 BRE 1.0 1,944 1,728 1,080 4f A M
ZEDiE 6.4 2 [ 4.4 1,350 - 1,215 5
TRy 135.8 BERE 110.5 2,160 - 1,512 10 8
FrRY B X 5.3 - 1,566 - 10 A 8
IE5NAZES 45 2 [ 2.3 2,592 2,106 2,106 6] A L
hE 10.0 BERE 6.6 1,404 1,188 1,080 3l A L
_hE 1.8 = B 1.1 3,888 3,888 3,240 3 M
_hE 2 [ 0.2 2,916 — 2,592 3 L
125 3.5 =0 1.5 3,510 2,160 1,890 5] vay
+)L)— 1.1 2 [ 0.8 - 3,780 — 0] A M
T RAINSHR 0.8 E I — 205 — 0.1 A L
Hh)o257— 0.2
Joyal)— 10.6 i 0.7 5,832 5,832 1,728 10 < 20
LARR 53.0 E & 41.2 1,404 1,188 1,080 10 12
FoTHA 1.8 2 [ 0.8 1,053 — 972 3l A L
=Y 16.9 BRE 11.2 1,728 1,404 1,296 5/ A L
=Y =0 5.6 - 1,890 - 5] A M
ANESSES) 17.0 —9o 12.6 1,728 — 1,296 10 vay 8
ANESSES) BRE 3.4 — 3,780 — 0] A 5
He 4.2 E X 3.9 2,722 — 2,449 8
HY BRE 0.2 - 1,728 — 4l A LL
k< 15.4 BRE 8.1 1,620 1,404 1,296 4f A M
k< BE X 6.4 1,674 1,674 1,620 4] B M
I=kTh 7.9 BRE 6.9 130 97 60 02 A M
= =I5 0.5 - 97 — 02| A S
E—<> 16.9 BERE 15.4 4,593 3,564 3,186 10 A LM
E515CL 1.7 £ B 0.6 2,592 — 2419 5] A L
T35 0.7 BRE 0.7 151 130 119 008 A M
[2H5Y 2.9 BRE 2.8 2,160 1,512 1,404 3l A L
SPVAITFA 0.3 BRE 0.3 2,376 1,944 1,944 2l A
SPZAES 0.2 N 0.1 1,944 1,728 1,728 1] a9 M
E—X FOERLL 14,040 — 12,960 8 A
ZTHEDH 0.1 BRE 0.1 5,184 - 3,456 4f A L
MrAL& 3.3 E X 2.6 2,538 2376 1,998 5 M
IEhLs 30.9 E 5 26.6 1,836 1,728 1,620 10 vay 3L
IEhiLs E 15 - 2,052 — 10 va9 LL
[ECTRYNS BRE 43 — 97 — 1
&L
f=Fh&E 70.2 JtigE - — - PR
f=FEh&E = B 69.8 2,700 2,700 2,376 20 va9 L
IZAIZK 0.9 ol 0.8 5,184 — 4536 10 4L
5oELD 2.8 BRE 2.8 5,940 5,400 5,076 0] A M
ELLV=T 1.7 BRE 0.1 — 108 — 0.1 M
HELLV=IT =l 1.0 130 97 97 0.1 A M
ZDEET 3.2 K B 2.0 41 36 30 0.1 A
LHL 2.6 2 [ 2.2 97 86 86 0.2
ESES T 561.9
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BMAMAET 0.1
INDRH DA 0.1
HEDHMNA 0.8 BERE 0.8 432 — 324 5 13
LEY 0.7 TA)H 0.6 10,044 9,720 9,180 17 115
INLULT 25 TA)H 25 8,856 6,588 6,588 17 88
L7y 0.6 T A)H 0.1 7,128 7,128 6,588 15 40
HEE 0.7 =0 0.7 — 1,620 — 5] vay L
YATE 16.4
PEFE=IAN 25 5 & 25 — 6,048 — 10l MA 46
AL 13.4 T & 13.4 5,400 — 4,104 100 M 36
U 0.2 K B 0.2 - 2,765 — 8 44
58 0.3 2 [ 0.1 - 1,512 — A 3L
SESE 0.2
To9Jz7F 0.1 E iR - - - PR LL
T5917F E iR - - - PR L
FT5917F E R - 7,020 — 2| 7hva M
W5 46 BRE 3.1 432 302 270 025 A L
AOVEF 15
7—ILR 0.8 BRE 0.8 — 5,184 — 8| 7hva M
F—ILA % [ 0.1 1,804 1,804 1,242 1] A 6
AHZ 0.4 BRE 0.3 3,888 — 3,240 5/ A LA
ZFDAOY 6.0 BERE 3.5 2,700 — 2,268 5/ A LA
FULIVAEL 9.8
ARV 7.9 EEES 7.9 6,048 5,940 5,400 12 L
_EETLH 2.0 EEES 1.9 6,480 5,184 3,672 0] A LL
INFF 14.3 EYEY 12.4 3,996 3,456 1,782 15
NAFyFTIL 3.8 EYEY 3.7 3,370 2484 2,484 10
FoA4T)LY 1.9 —T 1.9 — 2,700 — 4 30
RERET 67.2




